Transfers Report

This report contains the transfers results.

Contest Name

Ward 21 - Leven Kennoway & Largo

Valid Votes
Positions to be Filled
Quota

6,369 4 1,274

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Thomas ADAMS	Scottish Labour Party	872
David ALEXANDER	Scottish National Party (SNP)	1,506
Colin DAVIDSON	Scottish Labour Party	885
Craig DUNCAN	Solidarity - Scotland's Socialist Movement	25
lain MORRICE	Scottish Green Party	115
Graham RITCHIE	Scottish Conservative and Unionist	1,339
Alistair SUTTIE	Scottish National Party (SNP)	1,002
Steve WOOD	Scottish Liberal Democrats	625
	Total	6,369

Candidate David ALEXANDER Elected with 1,506 votes, being in excess of the quota of 1,274 Candidate Graham RITCHIE Elected with 1,339 votes, being in excess of the quota of 1,274

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of David ALEXANDER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Thomas ADAMS	46	0.15405	7.08630
Transfer to David ALEXANDER	0	0.00000	0.00000
Transfer to Colin DAVIDSON	51	0.15405	7.85655
Transfer to Craig DUNCAN	16	0.15405	2.46480
Transfer to Iain MORRICE	46	0.15405	7.08630
Transfer to Graham RITCHIE	0	0.00000	0.00000
Transfer to Alistair SUTTIE	1,252	0.15405	192.87060
Transfer to Steve WOOD	21	0.15405	3.23505
Value of non-transferable ballot papers			11.40040
	Total		232.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Graham RITCHIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Thomas ADAMS	95	0.04854	4.61130
Transfer to David ALEXANDER	0	0.00000	0.00000
Transfer to Colin DAVIDSON	153	0.04854	7.42662
Transfer to Craig DUNCAN	17	0.04854	0.82518
Transfer to Iain MORRICE	45	0.04854	2.18430
Transfer to Graham RITCHIE	0	0.00000	0.00000
Transfer to Alistair SUTTIE	27	0.04854	1.31058
Transfer to Steve WOOD	510	0.04854	24.75540
Value of non-transferable ballot papers			23.88662
	Total		65.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Craig DUNCAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Thomas ADAMS	2	0.04854	0.09708
Transfer to Thomas ADAMS	1	0.15405	0.15405
Transfer to Thomas ADAMS	3	1.00000	3.00000
Transfer to David ALEXANDER	0	0.00000	0.00000
Transfer to Colin DAVIDSON	2	1.00000	2.00000
Transfer to Colin DAVIDSON	1	0.15405	0.15405
Transfer to Colin DAVIDSON	4	0.04854	0.19416
Transfer to Iain MORRICE	3	1.00000	3.00000
Transfer to Iain MORRICE	3	0.04854	0.14562
Transfer to Iain MORRICE	1	0.15405	0.15405
Transfer to Graham RITCHIE	0	0.00000	0.00000
Transfer to Alistair SUTTIE	7	1.00000	7.00000
Transfer to Alistair SUTTIE	11	0.15405	1.69455
Transfer to Steve WOOD	6	0.04854	0.29124
Transfer to Steve WOOD	3	1.00000	3.00000
Value of non-transferable ballot papers			7.40518
	Total		28.28998

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Iain MORRICE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Thomas ADAMS	1	0.04854	0.04854
Transfer to Thomas ADAMS	1	0.15405	0.15405
Transfer to Thomas ADAMS	14	1.00000	14.00000
Transfer to David ALEXANDER	0	0.00000	0.00000
Transfer to Colin DAVIDSON	10	1.00000	10.00000
Transfer to Colin DAVIDSON	3	0.15405	0.46215
Transfer to Colin DAVIDSON	8	0.04854	0.38832
Transfer to Craig DUNCAN	0	0.00000	0.00000
Transfer to Graham RITCHIE	0	0.00000	0.00000
Transfer to Alistair SUTTIE	47	1.00000	47.00000
Transfer to Alistair SUTTIE	4	0.04854	0.19416
Transfer to Alistair SUTTIE	32	0.15405	4.92960
Transfer to Steve WOOD	2	0.15405	0.30810
Transfer to Steve WOOD	20	0.04854	0.97080
Transfer to Steve WOOD	30	1.00000	30.00000
Value of non-transferable ballot papers			19.11455
	Total		127.57027

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Steve WOOD

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Thomas ADAMS	64	0.04854	3.10656
Transfer to Thomas ADAMS	2	0.15405	0.30810
Transfer to Thomas ADAMS	84	1.00000	84.00000
Transfer to David ALEXANDER	0	0.00000	0.00000
Transfer to Colin DAVIDSON	190	1.00000	190.00000
Transfer to Colin DAVIDSON	3	0.15405	0.46215
Transfer to Colin DAVIDSON	119	0.04854	5.77626
Transfer to Craig DUNCAN	0	0.00000	0.00000
Transfer to Iain MORRICE	0	0.00000	0.00000
Transfer to Graham RITCHIE	0	0.00000	0.00000
Transfer to Alistair SUTTIE	90	1.00000	90.00000
Transfer to Alistair SUTTIE	15	0.04854	0.72810
Transfer to Alistair SUTTIE	8	0.15405	1.23240
Value of non-transferable ballot papers			311.94702
	Total		687.56059

Transfers Report

This report contains the transfers results.

Stage 7 - Surplus of Alistair SUTTIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Thomas ADAMS	5	0.00269	0.01345
Transfer to Thomas ADAMS	216	0.00856	1.84896
Transfer to Thomas ADAMS	193	0.05556	10.72308
Transfer to David ALEXANDER	0	0.00000	0.00000
Transfer to Colin DAVIDSON	233	0.05556	12.94548
Transfer to Colin DAVIDSON	166	0.00856	1.42096
Transfer to Colin DAVIDSON	3	0.00269	0.00807
Transfer to Craig DUNCAN	0	0.00000	0.00000
Transfer to Iain MORRICE	0	0.00000	0.00000
Transfer to Graham RITCHIE	0	0.00000	0.00000
Transfer to Alistair SUTTIE	0	0.00000	0.00000
Transfer to Steve WOOD	0	0.00000	0.00000
Value of non-transferable ballot papers			47.99999
	Total		74.95999

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of Thomas ADAMS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David ALEXANDER	0	0.00000	0.00000
Transfer to Colin DAVIDSON	4	0.00269	0.01076
Transfer to Colin DAVIDSON	172	0.00856	1.47232
Transfer to Colin DAVIDSON	118	0.04854	5.72772
Transfer to Colin DAVIDSON	153	0.05556	8.50068
Transfer to Colin DAVIDSON	33	0.15405	5.08365
Transfer to Colin DAVIDSON	828	1.00000	828.00000
Transfer to Craig DUNCAN	0	0.00000	0.00000
Transfer to Iain MORRICE	0	0.00000	0.00000
Transfer to Graham RITCHIE	0	0.00000	0.00000
Transfer to Alistair SUTTIE	0	0.00000	0.00000
Transfer to Steve WOOD	0	0.00000	0.00000
Value of non-transferable ballot papers			152.35634
	Total		1,001.15147